09:16 Wednesday, June 10, 2015 1

Arhus Index
I TT-population (LOCF)

Basdine

0.0/ 100/ 20 31| 52 38 25
00| 74| 05 38| 50 34| 25
0.0| 100| 18 34| 51 3.7 25
40| 100/ 50 63| 81 6.6 17
50| 100| 5.0 67| 74 6.4 15
40| 100/ 50 6.3| 80 6.6 16
1.0/ 8.0, 30 42| 54 4.3 17
16| 7.7, 38 50/ 50 4.5 15
10, 805 31 46| 53 4.3 16

70| 26.8| 105 140| 187 147 5.0

77| 20.0| 125 143 169| 143| 37

70| 26.8| 10.9 143| 182 146 4.7

7.0| 48.0| 10.7 155| 272 203 11.8

7.0/ 480| 107 155, 27.2| 203| 118

20| 300| 7.0 13.0, 18.0/ 133| 6.6

6.0/ 250/ 9.0 150/ 16.0| 136| 6.0

20| 30.0| 8.0 135| 170| 134| 64




Arhus | ndex

| TT-population (LOCF)

Basdline
P-value
AnalysisVariable | Wilcoxon Test (Two-sided)
Current pain 0.767
Maximum pain 0.714
Average pain 0.742
Three item pain Index 0.983
Component Invalidity 0.815
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Arhus Index
I TT-population (LOCF)

Visit 1 (6 weeks)

00| 80| 10 30| 45 31 23
00| 90| 20 30( 5.0 35 26
00| 90| 10 30( 5.0 3.2 24
20| 10.0| 4.0 59| 7.0 5.8 21
20| 100| 50 50 7.0 58 24
20| 10.0| 45 59| 7.0 5.8 22
00| 80| 20 35| 5.0 3.6 17
00| 77| 25 36| 51 3.8 21
00| 80| 21 36| 50 3.7 18

20| 26.0| 80 12.0) 155| 125 55

20| 220]10.0 136, 171| 131 57

20| 26.0| 85 12.8| 16.1| 126 55

20| 520] 10.0 150, 20.8| 172 110

20| 520]10.0 150, 20.8| 172 110

10| 240| 6.0 110, 15.0| 108 6.1

20| 280| 6.0 80| 11.0 99 72

10| 28.0| 6.0 10.0| 145 106 6.3




Arhus | ndex

| TT-population (LOCF)

Visit 1 (6 weeks)
P-value

AnalysisVariable | Wilcoxon Test (Two-sided)
Current pain 0.618

Maximum pain 0.899

Average pain 0.695

Three item pain Index 0.612

Component Invalidity 0.446
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Arhus Index improvement (%) from baseline
I TT-population (LOCF)

Visit 1 (6 weeks)

-337.5| 100.0| -17.0 14.3| 64.8 6.4 89.8

-300.0| 100.0| -27.9 10.5| 70.3| -21.3| 124.7

-337.5| 100.0| -24.0 14.3| 66.7 03 976

-57.1| 818, -3.7 8.1/40.8 126 333
-56.0| 90.0| -234 00| 81 42 39.0
-57.1| 90.0| -12.6 6.1/ 38.0 105 346

-57.1| 88.9| -185 10.8| 29.7 95 364

-57.1| 88.9)-185 10.8| 29.7 95 364

-100.0| 93.8, 0.0 143|313| 155 340

-42.9| 875|-12.0 118|625 209 434

-100.0| 93.8, 0.0 13.8|339| 1658 36.2
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Arhus I ndex improvement (%) from baseline

| TT-population (LOCF)

Visit 1 (6 weeks)

P-value
AnalysisVariable Wilcoxon Test (Two-sided)
Current pain [%)] 0.650
Threeitem pain Index [%0] 0.341
Component Invalidity [%0] 0.992
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Arhus Index
I TT-population (LOCF)

Visit 2 (12 weeks)

00| 81| 00 15, 38 20 22
00| 62| 05 13| 4.0 20, 21
00| 81| 00 14) 39 20, 22
00| 91| 20 50/ 6.3 4.3 2.8
20| 100| 30 44| 80 55/ 29
00| 10.0| 26 48| 6.8 4.6 2.8
00| 71| 14 25| 38 2.7 18
12| 77| 14 23| 40 31 20
00| 77| 14 25| 40 2.8 19
00| 205| 41 87| 14.0 90 6.2

45| 185| 56 10.0) 145| 106 53

00| 205| 53 89| 144 94 6.0

00| 435| 50 135 210 137 118

00| 435 50 135 210/ 137 118

00| 300| 4.0 9.0/ 120 94 67

30| 140 50 70/ 90 74 31

00| 300| 4.0 80| 120 89 6.0




Arhus | ndex

| TT-population (LOCF)

Visit 2 (12 weeks)
P-value

AnalysisVariable | Wilcoxon Test (Two-sided)
Current pain 0.746

Maximum pain 0.300

Average pain 0.688

Three item pain Index 0.499

Component Invalidity 0.433
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Arhus Index improvement (%) from baseline
I TT-population (LOCF)

Visit 2 (12 weeks)

-200.0| 100.0, 8.3 55.9| 100.0| 41.0 67.8

-24.2| 100.0 0.0 68.2| 86.8| 46.1| 485

-200.0| 100.0 0.0 60.7| 100.0| 42.1| 63.6

-71.4| 100.0 438 384| 75.0| 353|485

-48.0| 716 47 235| 517 24.8| 345

-71.4| 100.0 4.7 353| 66.1| 327|454

-230.0| 100.0 0.0 33.7| 80.8| 211|751

-230.0| 100.0, 0.0 33.7| 80.8| 211 751

-100.0| 100.0, 0.0 286 529| 269|433

00| 750/ 17.6 444| 60.0| 398 258

-100.0| 100.0, 3.6 31.0| 559| 301 39.8




09:16 Wednesday, June 10, 2015 10
Arhus I ndex improvement (%) from baseline

| TT-population (LOCF)

Visit 2 (12 weeks)

P-value
AnalysisVariable Wilcoxon Test (Two-sided)
Current pain [%)] 0.686
Threeitem pain Index [%0] 0.357
Component Invalidity [%0] 0.315




